

۲۰
امری روس

$$\delta^p - (w \alpha^p \alpha \delta) = \frac{2\delta}{5} = 19 \quad \checkmark$$

②

$$\delta K^Y_2 \in \mathcal{O} \rightarrow K^Y = q \rightarrow \left[\frac{q}{r} \right] = \tau[f, \delta] = f \quad \checkmark$$

$$p = -\frac{1}{\epsilon} \rightarrow y = a(x^r + rx - \frac{1}{\epsilon}) \rightarrow y = 1, x = -1 \rightarrow a((-1)^r - r - \frac{1}{\epsilon}) = 1$$

$$a = -\frac{r}{2} \rightarrow y = -\frac{r}{2} (x^2 + rx - \frac{1}{r}) \stackrel{x=0}{=} y = -\frac{r}{2} (0 + 0 - \frac{1}{r}) = \boxed{\frac{1}{2}}$$

④

✓ -100

①

$$\alpha \circ \alpha \circ \beta \rightarrow a^p \circ \alpha \circ \beta \rightarrow \rho \rightarrow {}^p\alpha - 1 = a^p \rightarrow -a^p + {}^p\alpha - 1 = 0 \rightarrow -(a^p - {}^p\alpha + 1) = 0$$

$$-(a - 1)^p = 0$$

$$n^2 - r n^2 - \delta_1 \neq r \neq -\delta_2 = 0 \rightarrow f = \frac{r \pm \sqrt{4a}}{r} \left\{ \begin{array}{l} \frac{r + \sqrt{4a}}{r} \\ \frac{r - \sqrt{4a}}{r} \end{array} \right\} \rightarrow n^2 = \frac{r + \sqrt{4a}}{r} \rightarrow n^2 \left(\frac{r + \sqrt{4a}}{r} \right) = 0$$

$$S=0, P_2 = \left(\frac{r + \sqrt{49}}{2} \right) \{ r^2 - 2S \} + r = \frac{(r + \sqrt{49})^2}{2} = 0 + 0 = \frac{49 + 49 + 14\sqrt{49}}{2}$$

$$\rightarrow 0.9 + \sqrt{54.9} \quad \checkmark$$

①

$$m \in (-1, 0 - \frac{1}{2}) \rightarrow \text{not possible}$$

$$\rightarrow (m+1)(m+1+m) \dots (m+1)(2m+1) \dots \frac{1}{2} + \frac{1}{2}$$

$$(m+1)^2 + m(m+1) \dots \Delta < 0 \text{ not possible}$$

$$\left. \begin{aligned} y &= -m^2 + mn + 1 \\ y &= -n^2 - n \end{aligned} \right\} \rightarrow -mn^2 + mn + 1 = -m - n \rightarrow mn^2 + (m-1)n - m - 1 = 0$$

②

$$-\frac{1}{x+1} = 0 \rightarrow x = 1 \rightarrow \frac{1}{x-1} = \frac{1}{x(x+1)} = \frac{1}{x^2 - 1} = \frac{1}{(x-1)(x+1)}$$

$$y = -\frac{1}{x-1} - \frac{1}{x+1} = \frac{1}{x} \rightarrow \frac{1}{x} = -\frac{1}{x-1} - \frac{1}{x+1} = \frac{1}{x^2 - 1}$$

$$y = \frac{1}{x^2 - 1} \rightarrow s \left| \frac{1}{x} \right. = \frac{1}{x^2 - 1} = \frac{1}{(x-1)(x+1)}$$